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QUESTION 1

An administrator is trying to open a remote console session to a virtual machine using the vSphere Web
Client. With each attempt, an error message is displayed that reads:

HTTP ERROR 404

What is the most likely cause for the error?

A. Port 902 is blocked by the firewall.

B. Another program or process is using port 903.

C. Outgoing UDP is enabled for port 902 on the firewall.

D. Another program or process is using port 9443.

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.troubleshooting.doc/
GUID-8536C14F-4D4F-4674-846E-08BE321B7A11.html

QUESTION 2

Which three connection types are available when configuring a vSwitch in the vSphere Web Client? (Choose three.)
A. VMkernel Network Adapter

B. Physical Network Adapter

C. Virtual Machine Port Group for a Standard Switch

D. vMotion Network Adapter

E. vSAN Network Adapter

Correct Answer: ABC

Vmkernel network adapter, physical network adapter and virtual machine port group for standard switch are the
connection types available when configuring Switch in vSphere client.

Reference: https://pubs.vmware.com/vsphere-55/topic/com.vmware.lCbase/PDF/vsphere-esxi-
vcenterserver-55-networking-guide.pdf

QUESTION 3
When attempting to access a virtual machine, an administrator is unable to login using the vSphere credentials.

What two options are probable causes of the authentication failure? (Choose two.)

2V0-620 Practice Test | 2V0-620 Study Guide | 2V0-620 Braindumps 2/4


https://www.pass4itsure.com/2v0-620.html
https://www.pass4itsure.com/2v0-620.html
https://www.pass4itsure.com/2v0-620.html

VCE & PDF https://www.pass4itsure.com/2v0-620.html|
a 2024 Latest passditsure 2V0-620 PDF and VCE dumps Download
== / PassditSure.com

A. The vSphere credentials have not been granted permissions.

B. The vSphere credentials are granted read-only permissions.

C. The vSphere credentials are granted no-access permissions.

D. The vSphere credentials are not a member of the local administrator group.
Correct Answer: AB

While the details of authentication and authorization differ between ESX/ESXi and vCenter Server, the model itself is the
same for both system. It relies on privileges, roles, and permissions.

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=%2Fcom.vmware.wssdk.pg.doc_50%
2FPG_Ch6_Authenticate_Authorize.8.3.html

QUESTION 4

An administrator is unable to create the first group in a new vRealize Operations environment.
What is the likely cause of the problem?

A. There are no group types defined.

B. The group is not defined in SSO.

C. There are more than 32 group types defined.

D. The description for the group is not provided.

Correct Answer: A

Explanation: There is no group types defined when administrator is unable to create the first group in a new vRealize
Operations environment.

Reference: https://www.vmware.com/support/vrops/doc/vrops-601-release-notes.html

QUESTION 5

An administrator has a virtual machine that requires four times the compute resources than other virtual machines on
the same ESXi 6.x host.

How should the administrator configure the virtual machine settings, in order to be prepared for any resource
contention?

A. Set the shares of the priority virtual machine to High and the rest to Low.
B. Set the shares of the priority virtual machine to High.
C. Set the shares of the priority virtual machine to High and the rest to Normal.

D. Set the shares of the priority virtual machine to Normal and the rest to Low.
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Correct Answer: A

For the virtual machine that requires more resources, you can set the shares of the priority VM to high and

set the rest to medium or low.

Reference: http://www.globalknowledge.net/mea-shared-content/documents/645372/645389/

WP_VM_Resource_Pools.pdf (page 3)
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